®Daitn: TITK-250/1200 kar.doc

| Cocrasnen: 26.10.2009 r.

Jluct: 1 3 4

i\fel:; Kon HaumenoBanue neranu XapakTepucTuka mli_/l?/g’n.
Puc.1
1 0000483039 [ToamMMHNUK MIapUKOBBIN 6203-27 (17x40x12) 1
2 0000483030 [ToamMMHNUK MIapUKOBBIN 6202-27 (15x35x11) 1
3 0000457134 BuHT OapankoBbIi M6x70 1
4 0000633001 laiika crieranpHast M10x1,25 2
5 6585257220 Crormop 1
6 0000651025 [aiiba 10,5x40x3 1
7 0000441150 Komnb1io 1,78x6,75 1
8 6585214305 Koprmyc neBbiit 1
9 0000661001 Komnb110 cTomopnoe B10 1
10 0000612153 Bunt M5x20 2
11 6585431153 Kuormka ¢ Taramu B coope 1
12 0000651021 [aiiba 04,3x16 2
13 0000612131 Bunr M4x8 8
14 0000447226 ITpyxuna 0,8x6,3x60 1
15 0000457136 MaxoBHK M10 1
16 0000651022 [aiiba 10,5x21 3
17 0000654015 [1aiiba npyxuHHas 1
18 6585447222 [Ipyxuna 1
19 0000457140 BuHT OapanikoBbIi M6x40 1
20 6585261364 Koprryc moBopoTHbIi 1
21 0000457137 BuHT 6apankoBblii M6x20 2
22 6585262225 VYnop 1
23 6585234352 Ocb 1
24 0000633010 laiika creranpHast M6 2
25 0000613059 Bunr M8x40 (S8) 2
26 0000652009 [ITait0a rpoBepHas 08 3
27 6516443226 [aiiba 08x14x0,5 2
28 0000614132 bonr M6x30 2
29 6585217308 Cron moBOPOTHBIN 1
30 0000613061 Bunr M8x50 1
31 0000671015 [Tait0a npyxuHHAS 20x8,2x0,9 1
32 0000651030 [aii6a 8,4x24x2 1
33 0000642048 Htudr 08x32 2
34 0000617079 Bunt 3x10 1
35 6516244187 VYkazarens 1
36 6585443385 ITpoxianka 3
37 6585217310 CranuHa 1
38 6585443386 Hoxxa pesnHoBas 4
39 0000633008 laiika crieranpHast 1
40 6585262227 VYrop creMHbII 1
41 6569234337 BunT duikcatop 1
42 0000617124 Bunr 4x16 1
43 6585414316 [Ilexa koxyxa jgeBas 1
44 0000613048 Bunr Mo6x25 (S5) 2
45 0000612104 Bunr Mox13 2
46 6585217311 Cron BepxHUA 1
47 6585264228 Hanpasinsiromas D14x68 1
48 6585414315 Koxyx HWKHUI BepXHEro crona 1
49 6585456071 Hox packnunauBaromumi 1
50 6585414317 [Ileka koxyxa mpasas 1
51 0000612182 Bunt M4x6 2
52 0000612180 Bunr M5x30 1

=LK

N

Karamor 3armracHBIX YacTeH HU3CITHUST

HetictBurenen c: 01.11.2009 r.

[MNJIA TOPLHOBOYHA A

IITK-250/1200




@aiin: I1TK-250/1200 kat.doc | Cocrasnen: 26.10.2009 r. Jluct: 2 u3 4
53 6566441164 lerka 1
54 6585214307 Koxxyx mofBHKHBIN C Tsiramu B cOope 1
55 6537257150 MaxoBuk (hukcaropa 1
56 | 5303447107.01 | Ilpyxuna 1
57 6537234305 Ocb (ukcaropa 1
58 6585246665 draner NpUKUMHON 1
59 6585246664 [Tnanmaiida 1
60 0000661029 Konb110 cTomopnoe B48 1
61 0000613075 Bunr M8x20 1
62 0000641066 Tt D6x55 1
63 0000457138 BunT OapankoBbii MS8x30 1
64 0000631032 laiixa M6 2
65 0000443378 Konb1io 1
66 0000642017 Tt 04x16 1
67 0000614073 Bont Mo6x16 1
68 6585261378 Kopnyc npaBsrii 1
69 0000612139 Bunr M6x12 4
70 0000617123 Bunr 4x10 10
71 6585216242 Pyuxa 1
73 6585182335 [IpoBoxgHKK 2
74 0000771157 Pazbem ki1eMMHBIIM 2
75 0000311243 Beikirouarens Marquardt 1299.0431 8(8)/250~5E4 1
76 6585216241 Pyuxa nHaxmanka 1
77 6585234353 Ocb 1
78 0000661009 Komnb110 cTomopnoe B20 1
79 6585275219 HInunnens 1
80 0000427068 Pemens mpuBonHOM MEGADYNE TB2-480 1
81 6585221303 HIxuB 1
82 0000672008 Konb1io 034,5x28x05 1
83 6585246663 Kpsimka 1
84 0000653004 [1aii6a rpoBepHas 05 3
85 0000612143 Bunr M5x16 3
86 0000624022 BunT crienmanbHbIi Mo6x10 (S3) 3
87 6585594896 TaOnuuka ykaszatenp yrjia HaKJIOHA 1
88 0000624047 BunT cnienmanbHbIN M8x40 2
89 6585246667 KoxyX 3alIUTHBIN BEPXHET0 CTONA B cOOpe 1
90 0000443387 Konb1o 28x20x2 1
91 6537243638 JIuck yropHbIit 1
92 0000631033 laiixa M8 1
93 6585234351 dukcarop 1
94 6585257222 [enans 1
95 6516443226 [aiiba 08x14x0,5 2
96 6604447013 [pyxuna 1
97 0000612179 Bont M8x30 1
98 6585431154 Bunr 1
100 0000482022 Tapuk 03,969mmMm, 5/32" 1
101 6585264226 Brynka 1
102 0000664003 [ITait0a cromopHas a5 2
108 0000321080 Konpnencatop SINTEX 45S.C3D.15 15M® AC400B 25/85/21 1
109 6585165198 B1ok a5exTpoHHBIH 1
110 6585214306 Kokyx pemMeHHoil nepenadn 1
111 0000512038 JIvCK MUIbHBIN 1250 1
112 0000381120 [IIHyp nuTaHus ¢ BUIKOH HO0,5VV-F 3Gx1mm? 1
113 5102235179 TpyOka 3anurHas 1
115 6566297155 [IpomonbHEIi yriop B cOope 1

Karamor 3armracHBIX YacTeH HU3CITHUST

HetictBurenen c: 01.11.2009 r.

[MNJIA TOPLHOBOYHA A

IITK-250/1200




®Daitn: TITK-250/1200 kar.doc

| Cocrasnen: 26.10.2009 r.

Jluct: 3 u3 4

116 6585216254 Tomnkarens 1
117 6585297163 JluHelika HaIpaBIAIOIIAs B cOope 1
118 6997000000 [Ipwxum B coope 1
119 6973000000 Yromep B coope 1
Puc.2

1 0000383084 Pazbem kileMMHBIIM FF 6,3 1
2 0000383118 Pazbem KiieMMHBIIM FF 4,8 3
3 0000483021 [ToAmMMHNUK MIapUKOBBIN 6201-27 (12x32x10) 1
4 0000483030 [ToAmMMHNUK MIapUKOBBIN 6202-27 (15x35x11) 1
5 0000612082 Bunr M5x12 4
6 0000613122 Bunt MS8Lx20 1
7 0000617079 Bunt 3x10 1
8 0000651032 [aiiba 8,4x23x2 2
9 0000662008 Konb110 cTonmopnoe A35 1
10 6524286073 Bentusitop 1
11 6571211328 Kopnyc nBurarens 1
12 6571214262 Kpeinika BeHTHIIATOPA 1
13 6585143041 Crarop 1
14 6585221302 [TxuB 1
15 6585261366 drnanen ABUrarTens 1
16 6585274125 Potop 1

chema collegamento elettrico

s

CIRCUITO ELETTRONICO

F2 F4  AC 220v F1  F8

F3Fs

109

Karamor 3armracHBIX YacTeH HU3CITHUST

HetictBurenen c: 01.11.2009 r.

[MNJIA TOPHOBOYHA A

IITK-250/1200




@aiin: I1TK-250/1200 kat.doc | Cocrasnen: 26.10.2009 r.

Jluct: 4 u3 4

Puc.2

14

l/\\

i 2

NN

LTI

e

=CKILN\

Karasior 3armacHBIX JacTeH U3AEIIUA

HeivictBurenen c: 01.11.2009 r.

IMTNJIA TOPHOBOUHA A

IITK-250/1200




	Страница 1
	Страница 2
	Страница 3
	Страница 4

